	The answer is 5.

What is 65÷10?
	The answer is 2.15

What is 3.62x100?
	The answer is 395

What is 254÷100?
	The answer is 208.

What is 95.31÷10?


	The answer is 6.5

What is 3x100?
	The answer is 362.

What is 1.91x10?
	The answer is 2.54

What is 1.9x100?
	The answer is 9.531

What is 391.5÷100?


	The answer is 300. 

What is 2.1x10?
	The answer is 19.1

What is 65.3x100?
	The answer is 190

What is 6.45x10?
	The answer is 3.915

What is 19x10?


	The answer is 21. What is 32.5÷10?
	The answer is 6,530.

What is 42.1÷10?
	The answer is 64.5

What is 39.45 x10?
	The answer is 190.

What is 215x10?


	The answer is 3.25

What is 6.12x10?
	The answer is 4.21

What is 35÷100?
	The answer is 394.5

What is 1.09x10?
	The answer is 2,150.

What is

666÷10?


	The answer is 61.2

What is 21.5÷10?
	The answer is 0.35

What is 3.95x100?
	The answer is 10.9

What is 2.08x100?
	The answer is 66.6

What is 959÷100


	The answer is 9.59

What is 32.4÷10? 
	The answer is 3.24

What is 489÷100?
	The answer is 4.89

What is 6.2x10?
	The answer is 62.

What is 3.91x10?


	The answer is 39.1

What is 3.91x100?
	The answer is 391.
What is 50÷10?

	
	


